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This statement is FALSE.

The correct rule of indices does not have the last term. It is: 
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Consider the following numerical example (with a=3, b=6 and n=2) to help you to understand this rule.
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[image: image1.png]9) (a X b)® = a™ X b™ X n , true or false?
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You can also use your calculator to check:
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Another related rule of indices is:
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Consider the following numerical example (with a=3, b=6 and n=2) to help you to understand this rule.

Starting with the left-hand-side:
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Starting with the right-hand-side we also see that:
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